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QUESTION 1

An information security department is trying to coordinate duties between various organization to increase security.
What are three supported security features that will increase security? (Choose three.)

A. FTP Client and Server Adapters for transmission

B. authentication integrated with external certificate repositories

C. support for AUTACK authentication messages for EDIFACT transactions

D. Cyber Security Operations Center (CSOC) Comprehensive Cyber Threat Detection and Response

E. Controlled Substances Ordering System (CSOS) to permit electronic transmission of orders for controlled
substances

F. Perimeter server, with a reverse proxy in the DMZ for managing protocols and ensuring firewall security from the
outside

Correct Answer: BCF

QUESTION 2

Given the following information from the servers.properties file: noapp=/home/SBI/properties/noapp.properties
jboss=/home/SBIl/properties/noapp.properties jdbcService=/ home/SBI/properties/jdbc.properties
jdbcServiceCustomer=/home/SIB/properties/jdbc_customer.properties si_config=/home/SBI/properties/ sandbox.cfg
customer_overrides=/home/SBl/properties/customer_overrides.properties filesystem=/home/SBI/
properties/filesystem.properties

The customer would like to change the default directory to store on-disk documents to a new directory. How should this
override be configured in the system?

A. Edit sandbox.cfg and add document_dir=.

B. Edit filesystem.properties and add filesystem.document_dir=.

C. Edit customer_overrides.properties and add jdbcService.document_dir=.

D. Edit jdbc_customer.properties and add jdbcServiceCustomer.document_dir=.

Correct Answer: C

QUESTION 3

A Business Process (BP) implementer wants to use the Document Keyword Replace Service in the Graphical Process
Modeler (GPM) but the service is not showing in the All Services stencil. What needs to be done to make the Document
Keyword Replace Service show in the GPM?

A. Update the license file.

B. Create a service configuration.

C8060-218 VCE Dumps | C8060-218 Practice Test | C8060-218 Study Guide 217


https://www.leads4pass.com/c8060-218.html
https://www.leads4pass.com/c8060-218.html
https://www.leads4pass.com/c8060-218.html

https://lwww.leads4pass.com/c8060-218.html
2024 Latest leads4pass C8060-218 PDF and VCE dumps Download

C. Execute install3rdParty.sh/.cmd.
D. Add JavaTask to adapters.properties.

Correct Answer: B

QUESTION 4

A company would like to maintain communication adapter availability in the event of IBM Sterling B2B Integrator (SBI)
being shut down for maintenance. What can be deployed to maintain adapter communications?

A. Service Group

B. Clustered Node

C. Perimeter Server

D. Adapter Container JVM

Correct Answer: D

QUESTION 5

Where in the dashboard interface can multiple adapter service configurations be enabled or disabled on one screen?
A. Current Activity

B. Adapter Utilities

C. System Troubleshooter

D. Business Process Manager

Correct Answer: C

QUESTION 6

A company wants a Business Process (BP) to be triggered by the arrival of a file in a particular folder. Which adapter
could be set to bootstrap when a file is found?

A. File System

B. FTP Client Get

C. Lightweight JDBC

D. Command Line Adapter 2

Correct Answer: A
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QUESTION 7

A customer does a very large volume of outbound FTP sessions. To help facilitate the throughput and provide load-
balancing and fail over support, the customer created two FTP Client Adapter instances associated with two Perimeter
Servers deployed on two separate servers. Which feature can be used by the customer to reference the two FTP Client
adapter instances by a common name in the Graphical Process Modeler (GPM) or BPML?

A. Service Group

B. Adapter Group

C. Transaction Group

D. customer_overrides

Correct Answer: A

QUESTION 8

A company has implemented a Web Service (WS) in IBM Sterling B2B Integrator (SBI). The WS is using unencrypted
HTTP as transport. The SBI is deployed as a single node instance. How can this transport be configured to be
encrypted?

A. Change the URL in the WSDL file to https://...

B. Change the transport to HTTPS in WS manager.

C. Change the SSL settings in SOAHttpServerAdapter.

D. Check in a SSL certificate and link to it in WS manager.

Correct Answer: B

QUESTION 9
The following BPML code describes a choice that takes place:
<choice name="Choice Start”>
<select>
<oase ref="Inventory Count"” activity="Greater Than 1000"/>

<oazse ref="Inventory Count" negative="true" activity="Not Greater Than 1000"/>
</select>

What are the activity values referring to?

A. BPML sequences

B. assign statement values C. elements in Process Data
D. results from rule evaluation

Correct Answer: A
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QUESTION 10

A customer is setting up a new EDI trading partner that uses the ASC X12 standard. The trading partner will be sending
inbound purchase orders to the customer and expects to receive Functional Acknowledgments (ASC X12 997)
transactions in return with Transaction Level acknowledgment detail. Where does the customer enable the outbound
Functional Acknowledgments to the trading partner?

A. Set level Inbound Document Envelope

B. Group level Inbound Document Envelope

C. Interchange level Inbound Document Envelope

D. Parameter to X12Deenvelope service in the X12DeenvelopeUnified Business Process (BP)

Correct Answer: B

QUESTION 11

Which option shuts down a system and ensures that currently running processes complete prior to termination?
A. Soft Stop

B. Host Information

C. Quiesce System

D. Stop the System

Correct Answer: A

QUESTION 12

A company has set up an adapter Container JVM to increase performance and reliability. Which three server adapters
are available to be used with the container? (Choose three.)

A. Connect:Direct
B. FTP

C. HTTPS

D. JMS

E. OFTP

F. SMTP

Correct Answer: ABC
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QUESTION 13

In an order process, three JDBC queries need to be executed against three separate databases: 1. Decrease inventory
by the ordered volume to reserve inventory (in the inventory database) 2. Check the customer credit limit in a table (in
the

customer database) 3. Insert the order details in the order table (in the order database) If, for example, the credit limit
check fails, the inventory needs to be restored.

Which service can be of help in this situation?
A. End Transaction Service

B. Lightweight JDBC Adapter

C. Rollback Database Service

D. Restore Business Process Service

Correct Answer: A

QUESTION 14

Where are two places the amount of time a Business Process (BP) remains online in the system can be updated?
(Choose two.)

A. Archive Manager

B. archive.properties

C. Business Process Editor

D. Performance Tuning Wizard

E. Retention Service configuration

Correct Answer: AC

QUESTION 15

A developer is implementing onFault logic into a Business Process (BP) for error handling. Given the following BPML
code containing two onFaults:

<onFault code="No files to collect™:>

Zassign nawe="Aissign" to="HResults">No Data To Collect</assign>
</onFaults>
<onFanlts

fassign name="Assign" to="Results">Second Fault</assign>
</onFault:>

How will the onFault execute for the error "XML failed validation"?

C8060-218 VCE Dumps | C8060-218 Practice Test | C8060-218 Study Guide 6/7


https://www.leads4pass.com/c8060-218.html
https://www.leads4pass.com/c8060-218.html
https://www.leads4pass.com/c8060-218.html

https://lwww.leads4pass.com/c8060-218.html

Leads4 Pa ss 2024 Latest leads4pass C8060-218 PDF and VCE dumps Download

A. Execute both faults.

B. Execute neither fault.

C. Execute the first fault.

D. Execute the second fault.

Correct Answer: D
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